Geography 204

Designing a Simple Biological Community: 

Community Matrix Example – Primary Consumers

Here is an example of the next trophic level to calculate – primary consumers. Again this is just an example. Note that the mix of grasses and trees how allowed for a mix of grasshoppers, squirrels, and rabbits. This diversity in primary consumers will affect the diversity of your secondary consumers and probably affect your total biomass especially after you’ve calculated your decomposers.
	Species Name

	Population (P) 


	Biomass Prod (B)
	Total Biomass (P x B)
	N use (N)
	Total N use

(P x N)

	Short Grass
	280
	6
	1680
	.1
	28

	Wild Rose
	5
	40
	200
	2
	10

	Juniper Tree
	18
	320
	5760
	4
	72

	Oak Tree
	1
	2600
	2600
	40
	40

	
	
	
	
	
	

	
	
	
	
	
	

	Producers
	
	
	10,240
	
	150


	Species Name

	Population (P) 


	Biomass Prod (B)
	Total Biomass (P x B)
	Biomass Req (R)
	Total Biomass Reg

(P x R)

	Grasshopper
	72
	8
	576
	14
	1008

	Squirrel
	10
	200
	2000
	800
	8000

	Rabbit
	1
	240
	240
	850
	850

	
	
	
	
	
	

	Primary Consumers
	
	
	2816
	
	9858

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Secondary Consumers
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Tertiary Consumers
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Decomposers
	
	
	
	
	



